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ECONOMICS HSSC-I
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itseif.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

@.1  Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i GNP —Depreciation Allowance =?

A NNP B. GDP

C. Personal Income D. National Income
{ii) Direct taxes are included in;

A GNP B NNP

C. Personal Income D Disposable Personal Income
i) Exports — Imports="?

A Gross Exports B Net Exports C. Terms of Trade D. Value of Imports
{iv) Which of the following is legal tender? :

A Cheque B. Credit Card Cc Prize Bond D. Currency
(v) National Income Increases when:

A 8=1 B. I1>8 C. S>1 D. Savings are Low
{vi) Which of the following is adversely affected by a fali in the value of money?

A Industrialists B. Debtors C. Lenders D. None of these
fvii) The interest rate on "Qarz-e-Hasna” is:

A High B. Low C. Zero D. Nominal
(viii)  Income tax in Pakistan is:

A Indirect tax B. Direct tax C. Progressive tax D. BothBand C
(ix) Basic formula for correcting deficit in BOP of Pakistan is:

A Increase in Exports

B. Increase in Imports

C. Increase in Exports and decrease in imports

D. Decrease in imports
{x) The number of Stock Exchanges in Pakistan is:

A One B. Two C. Three D. Four
{xi) Current Literacy rate in Pakistan is:

A 40% B. 60% C. 70% D. 75%
{xii) Largest Sector of Pakistan's economy is:

A Industry B. Services C. Transport D. Agricuiture
{xii)  Total amount of currency plus chequeable deposits in the banks are denoted by:

A M, B. M, C. M, D. M,
(xiv)  Mobility of Labour:

A Increases efficiency of labour B. Decreases efficiency of labour

C. Spoils iabour D. Has no effect on efficiency of labour
(xv) Which of the following is a monetary measure to control inflation?

A Increase in Govt. expenditures B. Increase in Govt. taxes

C. Increase in Discount rate D. Decrease in Discount rate
(xvi)  In Pakistan, federal govt. budget is finally approved by the:

A Cabinet B. State Bank C. Senate D. National Assembly
{xvii)  Aggregate Demand means:

A Y=C+8 B. Y=C+1 C. Y=S+1 D. Y=C-S
{xviil) If a country’s currency depreciates, then:

A Its exports become cheaper B. Its exports and imports both become cheaper

C. Its imports become cheaper D. its exports become expensive
{(xix)  Pakistan’s fiscal year starts from:

A 1st January B. 1st June C. 1st July D. 1st August
{xx) Basic principle of Islamic economic system is:

A Perfect Equality B. Justice

C. High Profit D. Low consumption
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ECONOMICS HSSC-li

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’ ,one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION - B (Marks 50)

Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
(15 x 3 = 45)
{i) Compute Personal Income (P.I) from the following data: N.I=100 billion rupees, Corporate Taxes=5

billion rupees, Social Security Contributions=5 billion rupees, Transfer Payments=26 billion rupees.
() What are the three motives of Demand for Money according to Keynes?
(i) What is meant by Transfer Payments? Give two examples of Transfer Payments.
(iv) Differentiate between Demand-Pull Inflation and Cost-Push Inflation,
(v) Why is the Central bank called “The bank of banks"?
(vi) Differentiate between Tariffs and Quota.
(vii) Differentiate between Direct Tax and Indirect Tax.
(viil)  Suggest three remedial measures for solving probleMs of Agricultural secter of Pakistan.
(ix) Define protection policy. Give two arguments in favour of Protection.
(x) Write any three methods of measuring eccnomic development.
(xi) Give three reasons of Low Saving in Pakistan.
(xii) Differentiate between Money Market and Capital Market.
{xii)  What is unemployment? How is it different from underemployment?
(xiv)  What do you mean by Double Co-incidence of wants?
{xv) What do you mean by Scheduled banks?
{xvi)  Define Foreign Exchange Rate.
{xvii)  Describe vicious Circle of Poverty.
(xviii) Define Mobility of Labour.
(xix)  Describe Mudarabah.
(xx) Write three features of Mixed economy.

(xxi)  Differentiate between currency and money.

b. Attempt any ONE part. (1x5=5)
(i) Define cheque and alsc differentiate between bearer cheque and crossed cheque.
{ii) Write five salient features of capitalism.
SECTION - C (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 10 =30)
Q.3
Y C
| 200 180
300 260
a. What do you mean by Average Propensity to Consume (APC) and Marginal Propensity to Consume
{MPC)?
b. Find APC and MPC from the table given above.

Q.4 Define value of mcney. Explain the factors that bring about changes in the value of money.
Q.5 Discuss functions of commercial banks.
Q.6  Discuss the tax system of Pakistan.
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